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Q.1 Out of the given options, three are similar in a certain manner. However, one option
is NOT like the other three. Select the option which is different from the rest.

Ans X AW
B
X CH
X DN

Question ID : 75322912354

Q.2 If dark is called night, night is called morning, morning is called light, light is called
sunshine and sunshine is called dusk, then when does the sun rise?

Ans X A sunshine

X B.morning

o C.light
X D.dusk

Question ID : 75322912358
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Q.3 Which of the following answer figures completes the series of the question figure?

O A o O 2

A + O ] + JAN

o + A o)

O

Ans

X AA
IMAGE
A

4
O
O

X B.C
IMAGE

O

m

>4

O
Question ID : 75322912370
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Q.4 Three positions of the same dice are shown below, find the number of dots that lies
opposite to the face with 6 dots.

8]

Ans X A

X C1

Question ID : 75322912368
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Q.5 Which of the following answer figures, when placed in the blank space would
complete the patternin the question figure?

A

1N

Question ID : 75322912367

Q.6 Complete the following letter series:
a_aab_a_a_ d_

Ans ¢ A aacaa
X B.baaca
X C.abcab
X D. cabch

Question ID : 75322912353



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q.7 Which of the following Venn diagram best represents the relationship between
ratites, sparrow, kiwi, emu?

Ans X A D
IMAGE

X B.A
MAGE

(0) O

X DB
MAGE

Q.8 Out of the given options, three are similar in a certain manner. However, one option
is NOT like the other three. Select the option which is different from the rest.

Ans X A 132

Question ID : 75322912366

\:/ ]
X C.88
X D.121

Question ID : 75322912364
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Q.9 Select the option that is related to the third term on the same basis as the second
termisrelated to the first term.
5:30:8:?
Ans X A 14
X B.80
o C.069
X D.50

Question ID : 75322912365
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Q.10 Which of the answer figures is the right water image of the given figure?

Ans

X
MAG

m o
=)
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Question ID : 75322912371

Q.11 Out of the given options, three are similar in a certain manner. However, one option
is NOT like the other three. Select the option which is different from the rest.

Ans X A Blue
X B.Violet

X C. Green

 D. White

Question ID : 75322912355

Q.12 Inthe question two statements are given, followed by two conclusions, | and Il. You
have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any,
follows from the given statements.

Statement 1:Some books are sticks.
Statement 2:No stick is blue.
Conclusion |:No book is blue.
Conclusion I : Some books are not blue.

Ans ¢ A Only conclusicn Il follows
2 B. Either conclusion | or Il follows
X C.Both conclusion | and Il follow

/X D. Only conclusion | follows

Question ID : 75322912362
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Q.13 Which of the following cubes in the answer figure can be made based on the
unfolded cube in the question figure?

X | ¥
A\
x| O

Ans A A

)
.

="

AAGE

Question ID : 75322912372
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Q.14 Select the option that is related to the third term on the same basis as the second
termis related to the first term.
Jaipur: Rajasthan :: 7 : Bihar

Ans X A Muzaffarpur

X B. Madhubani

X D. Darbhanga

Question ID : 75322912357

Q.15 Inthe question one statement is given, followed by three assumptions, I, Il and III.
You have to consider the statements to be true even if it seems to be at variance
from commonly known facts. You have to decide which of the given assumptions, if

any, follows from the given statement.

Statement:"In our report published last week, the name of the author was mis-
spelt. We regret the error"— A magazine editor.

Assumption | : The name of the author was not easy to spell.

Assumption Il : Publishing correct names of authors is not as important as the

quality of the article.
Assumption Ill : Publishing correct names of authors is desireable.

Ans ¢ A Only assumption (Il is implicit
X B.Only assumption | is implicit
X C.QOnly assumption ilis implicit

X D. All are implicit

Question ID : 75322912363

Q.16 Select the option that is related to the third term on the same basis as the second
termis related to the first term.
DE:10:HI:?

Ans X A.20
X B 17

Question ID : 75322912356

Q.17 Raniis taller than Neena but not as tall as Beena. Lata is shorter than Rani but taller
than Geeta. Who among them is the tallest?

Ans X A Gita
/X B.Rani
X C.Neena

Question ID : 75322912361
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Q.18 Out of the given options, three are similar in a certain manner. However, one option
is NOT like the other three. Select the option which is different from the rest.

Ans X AC
IMAGE

M

X D.A
IMAGE

Question ID : 75322912369

Q.19 Pointing at Sujata, Sahil said, "She is the sister of the husband of my wife." How is
Sujatarelated to Amit?

Ans X A Daughter
o B. Sister
/< C.brother's daughter
X< D. Wife

Question ID : 75322912360
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Q.20 If allthe symbols are dropped from the arrangement given below, which of the
following options will be tenth from the right end?
K28%P#B3HS$SGTIAYE&RE£49LU@CN

Ans X A A

B
p (cle
X DY
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Question ID : 75322912359

Q.1 The Indus Valley Civilization (IVC) was a
Ans X A Copper

___________ Age civilization.
+’ B.Bronze

X C.Stone

X D.lron

Q.2 In April 2021, RBl announced that the current repo rate has been kept at 4% and
what is the reverse repo rate at:

Ans X A 305%
X B.3.55%
¢ C.3.35
X D.3.45%

Q.3 Which state is the largest producer of uranium in India?
Ans X A Gujarat

X B. Madhya Pradesh

«” C. Andhra Pradesh

< D. Tamil Nadu

Q.4 National Medicinal Plants Board (NMPB), has prepared an e-book

Ans o A "20 Medicinal Plants for 2021 for Covid-19 care’
/X B.“10 Medicinal Plants for 2021 for Covid-19 care”
X C."15 Medicinal Plants for 2021 for Covid-19 care”

X D. "30 Medicinal Plants for 2022 for Covid-19 care”

Question ID : 75322912384

Question ID : 75322912376

Question ID : 75322912380

Question ID : 75322912386
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Q.5 Which is the biggest temple in Bharmour which is a post-Gupta era Hindu temple in
Himachal Pradesh?

Ans X A TheVashisht Temple
/X B.TheBabe Balak Nath Temple
X C.The Sankat Mochan Temple

« U. The Lakshana Devi Temple

Question ID : 75322912373

Q.6 The MPC is a statutory and institutionalized framework under the Reserve Bank of
India Act, 1934, for maintaining price stabhility. MPC stands for:

Ans X A Money Policy Committee
«” B. Monetary Policy Committee
< C. Major Palicy Commission

/< D. Monetary Private Committee

Question ID : 75322912375

Q.7 The Neem plant is vey useful for which disease?
Ans o A Leprosy

X B.Seizures

X C.Vomiting

X D. Scothe and sore throat

Question ID : 75322912379

Q.8 Svetasvatara Upanishad is embedded in which Veda?
Ans X A. Atharvaveda

/X B.Rigveda
X C Samaveda

V‘? D. Yajurveda

Question ID : 75322912374

Q.9 Whois not King Ashoka's sonin the following options?
Ans X A Mahinda

X B.Kunala
« C.Kaivalya
X D.Tivala

Question ID : 75322912383
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Q.10 Which plant is called Queen of herbs?
Ans X A Aloevera

o’ B. Holy Basi
X C. Mint

X D. Neem

Q.11 The Nutmeg's Curse: Parables for a Planet in Crisis is written by which author?
Ans X A Ajay Goyal

/X B. Amrita Rao

X C. Amit Gupta

«” D. Amitav Ghosh

Q.12 Who is the most recent Jnanpith award Recipient in 2021 who was awarded for the
year 20207

Ans ¢ A Sanjay Sur
/X B.Sanjana Sachdeva
X C. Akkitham Achuthan Namboothiri Somi Suryavanshi

X D. Dr. Rajkumar Samagra Charithre

Q.13 Whichriver is also called the Red River?
Ans X A Narmada

X B.Tapi
o’ C.Brahmaputra

X D.Krishna

Q.14 Which article of the Indian Constitutionis related to the Procedure for
impeachment of the President?

Ans X A Article 55
X B. Article 71
X C. Article 51

V? D. Article 61
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Question ID : 75322912388
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Q.15 Bacteria grows in food most rapidly in the range of temperatures between
Ans X A 10°Fand 140 °F
X B.30°Fand 140 °F,
X C.20°Fand 140 °F,
v 0.40°

Fand 140 °F,

Q.16 Which is the capital of Meghalaya?
Ans o A Shillong

/X B Agartala

X C.Imphal

X D. Aizawl

Q.17 Money Bill can be introduced in:
Ans X A Both Lok Sabha and Rajya Sabha

/< B.Only the Rajya Sabha
/X C. Neither Lok Sabha Nor Rajya Sabha

k Sabha

o« D. Only the L¢

Q.18 Who won the Women's Singles tennis title at the 2021 Australian Open?
Ans A

Naomi Osaka
X B. Jennifer Brady
X C. Garbine Muguruza

X D. Sofia Kenin

Q.19 Ellorais a UNESCO World Heritage site located in which district of Maharashtra?
Ans X A Buldhana

X B.Ahmednagar

X C. Amravati

Q.20 Where is the headquarters of the Indian Olympic Association (10A) situated?
Ans X A Gujarat

X B.Chennai

o C.New Delhi

X D. Mumbai

GET IT ON
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Question ID : 75322912377

Question ID : 75322912382

Question ID : 75322912389

Question ID : 75322912392

Question ID : 75322912385

Question ID : 75322912391
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Q.1 Find compound interest on Rs. 24000 at 10% per annum for 2 years, compounded
annually .

Ans X A Rs.7040

o B.Rs.5040
/X C.Rs.4040
X D.Rs.6040

Q.2 Two successive discounts of 40% and 20% is equal to a single discount of

Q.3 The length of the longest rod which can we put in a room whose dimensions are
10mx 10m x 10m is

Ans X A 3032m

X B.17m
X C.30m

 D.17.321

Q.4 Aperson travellingin a train counts 31 electric pole in one minute. If the poles
are 50 metres apart, at what speed is the train travelling?

Ans X A.70kmph
o« B. 90kmpt
X C.60kmph
/< D. 80kmph

Question ID : 75322912404

Question ID : 75322912398

Question ID : 75322912408

Question ID : 75322912406
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Q.5 The histogram for a week of vaccination in rural areas is given. What is the average
vaccination per day?

350,000 -

300,000
300,000 -

250,000

200,000 200,000

250,000 -
200,000 -
150,000 150,000
150,000
100,000

100,000 -
50,000 - l

o o

16-Jun-21  17-Jun-21  18-Jun-21  19-Jun-21  20-Jun-21 21-Jun-21 22-Jun-21

Vaccinationin rural areas

Date

Ans ¢ A. 102857
X B.162857
X C.298576
X D.182857

Question ID : 75322912411

Q.6 If x% of 9=y% of 21, then (x+y):y=
Ans X A 23

2 B.78
¢ C.103
X D53

Question ID : 75322912400

Q.7 Aman travelled a distance of 45km in 7 hours. He travelled partlyonfoot at 5 km/hr
and partly on bicycle at 12 km/hr. What is the distance travelled on foot?

Ans X A. Approx. 25km
X B. Approx. 30km
o C. Approx. 28km

/X D. Approx.32km

Question ID : 75322912405

e If 51% is divided by 17, then remainder will be ?
Ans 2 A D

X B8

p o

X D.12

Question ID : 75322912397
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Q.9 Inan examination, 44% of students failed in quants and 38% of students failed in
verbal while 32% failed in both the topics. If 350 students passed in both the topics,
how many students appeared to write the examination?

Ans X A 600
X B. 800
X €.900

o D.700
Question ID : 75322912403

Q.10 Which of the following numbers is divisible by 9?
Ans X A 120458

X B.389207

X C. 450453

" D. 873423
Question ID : 75322912395

Q.11

-

17 ;| 2 bl ”
= Fthen (X“+y)(x=—y")= ?
3

Ix+2y

Ix-2y
Ans X A 125
A B.13:56
2561243
\V/“‘ 13:12

Question ID : 75322912402

Q.12 11449 - 8649 + 449 = x2 , then xis
Ans X A 67

X B.87
X C.47
& D.57

Question ID : 75322912396
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Q.13 The histogram for population and percentage of youth in 7 states are given. What is
the number of youth in state C?

L 55

50 - a5

Lok 35 35

30
30 4

25
20

10

€

Population and percentage of youth

D E F

600,000 | 500,000 | 850,000 | 950,000 & 550,000 = 550,000 | 400,000

States

Ans X A 320500
X B. 180500
/X C.112500
& 0. 212500

Question ID : 75322912412

Q.14 Awatchwas sold at a loss of 10%. If it was sold for Rs.140 more, there would have
been a gain of 4%. What is the cost price?

Ans X A Rs.1160
X B.Rs.1060

¢ C.Rs.1000
X D Rs 960

Question ID : 75322912401

5% 3}3(1—:.‘(‘] 243

R - ,then x Is
Ans A7

X8B3

X C.-45

X D.-5

Question ID : 75322912393

Q.16 5% of 3+5=
Ans ¢ A 0.03

X B.02
X C.03
X D.0.02

Question ID : 75322912399
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Q.17 Aand B cando a piece of work in 36 days, B and C in 45 days, and C and A in 60 days.
How much time will B alone take to finish the job?

Ans X A 130days
X B. 140 days
X C.120 days

™ 4 60 days

Question ID : 75322912407

Q18 ﬂ93_1-'-3_l'\3
36
Ans 7 A 500
X B.400
X C.593

+7= ?

X D 493

Question ID ;: 75322912394

Q.19 The sales of four companies PQ,R, and S (in Rs. Crores) in year 2019-20 is
represented by the table. If sales of P and Q are increased by 20% in the next year
then the ratio of their sales next year is

CoNn;:::y Sales in Rs.
P 800 crores
Q 650 crores
R 900 crores
S 750 crores

Ans X A 1513
& B.16:13
X C.13:15
X D.13:17

Question ID : 75322912410

Q.20 150 men took a dipinapond 60 m long and 48 m broad on a religious day. If each
man's displacement of water is 4 m cube, then therise in the water level of the pond
is :

Ans X A 0.8m (approx)
25 B.0.6 m (approx)

o C.0.2m (approx)

v

X D.0.4m (approx)

Question ID : 75322912409
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Q.1 Four words are given, out of which only three words are spelt correctly. Choose the
one spelt incorrectly.

Ans X A synthesize
X B.supplant

" C. properiety
X D.timorous

Question ID : 75322912424

Q.2 Select the word segment that substitutes (replaces)the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

(1t shows that the disposing sand wick can avoid the) liquefactive effect, but
attention must be paid to the time effect.

Ans X A.No correction required
X B. It shows that disposing of sand wick can avoid
& C.Itshows that the disposing of sand wick can avoid the

/< D. It shows that the disposing sand wick can avoid

Question ID : 75322912416

Q.3 Fillin the blank with the most appropriate choice

What he doesn't mention is the mood swing from the honey-sweet to the

Ans X A.immiscible
X B.miscible

o’ C.irascible
< D. concupiscible

Question ID : 75322912418

Q.4 Select the most appropriate idiom of the given meaning

Ahopeless case, a person or situation having no hope of positive change.
Ans X A Flashin the pan
o” B. Alost
X C.Barking up the wrong tree
X D.Flesh and blood

Question ID : 75322912426

Q.5 Select the most appropriate meaning of the given idiom

Foam at the mouth
Ans o A.Tobeenraged and show it
X B. With all enthusiasm
< C.Not willing to accept the ideas of others

X D.Toget somecne drunk

Question ID : 75322912425
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Q.6 Some parts of a sentence have been jumbled up, and labelled P, Q,R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to
form a meaningful and grammatically correct sentence.

He spent

P. the night in

Q. to decide what
R. was the best

S. torment, trying
thing to do.

Ans ¢ A PSQR

Question ID : 75322912419

Q.7 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

(We don't grow neither better or worse as) we grow old but more like ourselves.
Ans X A. We grow neither better or worse as
/< B. No correction required
«” C. Wedon't grow either better or worse as

X D. We don't grow neither better nor worse as

Question ID : 75322912415

Q.8 The sentence below has been divided into three parts. Select the part of the
sentence that has an error. If the sentence has no error, select the option '‘No
Error'.

Besides the Mount Rainier, there/ are also views of Osborne/ Mountain and the
Sawtooth Ridge Peaks.

Ans X A Mountain and the Sawtooth Ridge Peaks
o B. Besides the Mount Rainief, there
2 C.NoError

X D. are also views of Osborne

Question ID : 75322912413

Q.9 Select the most appropriate ‘one word ' for the expressions given below

End or failure of aninstitution, an idea, a company, etc.; death of a person
Ans J A Dem
/X B.Demagogue
X C.Dawdle

X D. Destitute

Question ID : 75322912427
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Q.10 Select the word that is opposite in meaning (ANTONYM) to the word given below
infelicity
V/ A
X B.burden

Ans fortune
X C. affliction

X D. calamity

Q.11 Fillin the blank with the most appropriate choice

We must that god does not know of the existence of our sublunary

world.
X A refer

Ans
X B. chauffer
/X C.spoofer

). infer

Q.12 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

&« A
< B. cosmopolition

osmopolitar

Ans

X C.cosmopelitian

X D. cosmopaliton

Q.13 Select the word that is similar in meaning (SYNONYM) to the word given below

gourmand

Ans X A temperance
X B. guotidian
sseur

& C.connoi
/X D. propagate

GET IT ON

Google Play

Question ID : 75322912421

Question ID : 75322912417

Question ID : 75322912423

Question ID : 75322912422
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Q.14 The question below consist of a set of labelled (PQ,R,S) sentences. Out of four
options given, select the most logical order of the sentences which form a

paragraph.

Before Richard Owen introduced the term Dinosauria in 1842, there was no concept
of anything even like a dinosaur.

P. Large fossilized bones quite probably had been ohserved long before that time,
but there is little record—and no existing specimens—of such findings much before
1818.

Q. Fossil bones of what were undoubtedly dinosaurs were discovered in New Jersey
inthe late 1700s and were probably discussed at the meetings of the American
Philosophical Society in Philadelphia.

R.In 1676 Robert Plot of the University of Oxford included, in a work of natural
history, a drawing of what was apparently the knee-end of the thighbone of a
dinosaur, which he thought might have come from an elephant taken to Britain in
Roman times.

S. Inany case, people could not have been expected to understand what dinosaurs
were even if they found their remains.

Soon thereafter, Lewis and Clark of Philadelphia began their expedition to encounter
dinosaur fossils in the western United States.

Ans o A PSRQ
/X B.SQFR
X C.RPQS
X D.QPRS

Question ID : 75322912420

Q.15 The sentence below has been divided into three parts. Select the part of the
sentence that has an error. If the sentence has no error, select the option 'No
Error'.

Many an evening/ was spoilt by/ their intrusion.
Ans o A Nc Error
< B.was spoilt by
< C.theirintrusion.

X D.Many an evening

Question ID : 75322912414
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Q.16
Ans

Ans

Q.17 It is stated in the passage that the use of work animals

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives

The use of work animals began long before humankind started to practice agriculture. The
use of animal power is now considered by many people to be archaic and inefficient. Yet,
despite the more than 50 years spent promoting tractorization in developing countries, the
development gap between industrialized-countries and those with weak, highly dependent
economies has increased. Moreover, the use of current production models, which are more
critically dependent on fossil fuel, cannot be considered universally feasible. Alternative
energy sources such as the effective use of work animals must urgently be established.
Animals not only provide the means by which millions of families make a living, but they
also contribute to ecologically and socially acceptable production systems. Moreover, the
efficiency of their energy inputs into crop production is higher than that of machines. The
rational use of work animals has the potential to contribute, specifically, to the living
conditions and security of small-scale subsistence farmers.

SubQuestion No : 16
What does the author feel about the usage of machines replacing work animals?

«” A. The author portrays an opinion which strongly supports the argument for usage of
work animals over machines

X B.The author portrays a neutral view but only lists out merits of using work animals.

/< C.Theauthor portrays &n opinion which is strongly against the argument for usage of
work animals over machines

/X D. The author portrays a neutral view and lists merits and demerits for both the
options.

Question ID : 75322912430

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives

The use of work animals began long before humankind started to practice agriculture. The
use of animal power is now considered by many people to be archaic and inefficient. Yet,
despite the more than 50 years spent promoting tractorization in developing countries, the
development gap between industrialized-countries and those with weak, highly dependent
economies has increased. Moreover, the use of current production models, which are more
critically dependent on fossil fuel, cannot be considered universally feasible. Alternative
energy sources such as the effective use of work animals must urgently be established.
Animals not only provide the means by which millions of families make a living, but they
also contribute to ecologically and socially acceptable production systems. Moreover, the
efficiency of their energy inputs into crop production is higher than that of machines. The
rational use of work animals has the potential to contribute, specifically, to the living
conditions and security of small-scale subsistence farmers.

SubQuestion No : 17

«” A.began before human kind started to practise agriculture
X B.is immoral and inefficient
X C.cannot be considered a universally feasible option

/X D. promotes tractorization in developing countries

Question ID : 75322912429
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Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives

The use of work animals began long before humankind started to practice agriculture. The
use of animal power is now considered by many people to be archaic and inefficient. Yet,
despite the more than 50 years spent promoting tractorization in developing countries, the
development gap between industrialized-countries and those with weak, highly dependent
economies has increased. Moreover, the use of current production models, which are more
critically dependent on fossil fuel, cannot be considered universally feasible. Alternative
energy sources such as the effective use of work animals must urgently be established.
Animals not only provide the means by which millions of families make a living, but they
also contribute to ecologically and socially acceptable production systems. Moreover, the
efficiency of their energy inputs into crop production is higher than that of machines. The
rational use of work animals has the potential to contribute, specifically, to the living
conditions and security of small-scale subsistence farmers.

SubQuestion No : 18

Q.18 What does the passage mean, when it says the usage of work animals is archaic?

Ans & A Theusage of work animals old-fashioned
X B.Theusage of work animals is irrelevant
X C.Theusage of work animals is immoral

/< D.Theusage of work animals is inefficient

Question ID : 75322912433

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives

The use of work animals began long before humankind started to practice agriculture. The
use of animal power is now considered by many people to be archaic and inefficient. Yet,
despite the more than 50 years spent promoting tractorization in developing countries, the
development gap between industrialized-countries and those with weak, highly dependent
economies has increased. Moreover, the use of current production models, which are more
critically dependent on fossil fuel, cannot be considered universally feasible. Alternative
energy sources such as the effective use of work animals must urgently be established.
Animals not only provide the means by which millions of families make a living, but they
also contribute to ecologically and socially acceptable production systems. Moreover, the
efficiency of their energy inputs into crop production is higher than that of machines. The
rational use of work animals has the potential to contribute, specifically, to the living
conditions and security of small-scale subsistence farmers.

SubQuestion No : 19

Q.19 According to the passage, which of the following option is incorrect? Choose one
option.
Ans X A Usage of current in-production models of tractors are not feasible due to their
reliance on fossil fuels.
«” B. The efficiency of work animal's energy inputs into crop production is lower than
that of machines
X C.Therational use of work animals has the potential to contribute, specifically, to the
living conditions and security of small-scale subsistence farmers

/& D.Usage of work animals contribute to ecologically and socially acceptable production
systems.

Question ID : 75322912432
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Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives

The use of work animals began long before humankind started to practice agriculture. The
use of animal power is now considered by many people to be archaic and inefficient. Yet,
despite the more than 50 years spent promoting tractorization in developing countries, the
development gap between industrialized-countries and those with weak, highly dependent
economies has increased. Moreover, the use of current production models, which are more
critically dependent on fossil fuel, cannot be considered universally feasible. Alternative
energy sources such as the effective use of work animals must urgently be established.
Animals not only provide the means by which millions of families make a living, but they
also contribute to ecologically and socially acceptable production systems. Moreover, the
efficiency of their energy inputs into crop production is higher than that of machines. The
rational use of work animals has the potential to contribute, specifically, to the living
conditions and security of small-scale subsistence farmers.

SubQuestion No :20
Q.20 What kind of economies still makes use of working animals?

Ans X A. Industrialised economies
/X B. Developed economies
«” C. Developing economies

/& D. Super economies

Question ID : 75322912431
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Question ID : 75322912441

Q.2 fr=faf@aund ar fawedt & |, 39 fawsa o1 9o & o1t & mé ggra’ o agh o aren
fareu g1
&}-3Y g1 T -
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X B. smepfafea g
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Q.3 fr=faf@auad, ar ot & @, 39 fadrea o Taa & ot fog 7y 2reg & garaneff ez @
farenea w1l 21
HIT -
Ans X A 7T
/X B HeTgH
‘/ﬁ [qE
X D. 3R

Question ID : 75322912438

Q.4 f=afaf@aus d, arR faeeal 7 @, 39 e &1 7aa & St vraaraes 937 &1 98! fawmey a8
2l

Ans X A 3H1dgchd]
o B. 3iftha
X C. e

A D &Eame
Question ID ;: 75322912436

Q.5 famfefEd us A, ar feedt 4 |, 39 fawe &1 997 ¥ @t g arey &1 999 a1 fAweu gl
Ans X A WRd 4 g7 G AT & 3R &H IGa gF

X B. ¥Rd fH g9RI A1 & 1R gH 39 04 &

o C. ¥%d A &) A1 & 7R &5 39 07 §

< D. s fd gHeT HidT & IR g9 I4h GF g
Question ID : 75322912442
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Ans X A Ui &l a¥ &l g @il
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X D g

Question ID : 75322912446
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Q.8 fFrafof@a ns d, ar faeeat 4 |, 30 faeea &1 707 & 51t 3 w2 &1 |t faaea 21
Ans X A sfeRa

 B. tfiefas

X C. ufeerfae

X D. tfterfes

Q.9 fr=fafad usn d, ar foameat d @, 39 feea o1 Ta= & ot § mé ggrar o1 agh oref arar
famea g1
Y I3 T -

Ans X A. S-S g
X B uwggH aufd
X C.agd ua g
& D. 5831 71

Q.10 fy=faf@aus d, ar faemeal & |, 39 ey &1 Tua & o fovan & A arem 98t fAwea gl
Arfere AR @ GwTE FRarar 21

Ans X A ¥ o
X B. amr= ok
X C. gdanriere fora
o D. WU feha

Q.11 frr=fafaa us d, o faeeal & |, 39 faerey @1 g+ & 5t gt areg We o1 faenea gt
39 g1 fasyra ¢ 6 ag oo &m o |wee g

Ans 2 A firsy arem
X B. €gh i
X C. gesEmd e

X D. O3 g™

Q.12 fy=fafaa uy d, ar fAeeal & |, 39 T8 feea & g9 &R o araien & forg ue e &1
frerea gl
Fel- el 3R T §d S @1 arer

Ans X A HETERI
X B. arER

g C. gderd

4

X D @

Question ID : 75322912437
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Ans X A fregef
X B ggd
X C. fsyand

o D Ty

Question ID : 75322912444

Q.14 f=fafaEa us A, ar fawedt 7 |, 39 Ry &1 9g3 & &t form g g6 arag @ 98 famea
gh

Ans X A W oiffthy & e o gy ta wiT Wi et Weid G
X B.7m 3iffthy & A er ugan g1y iR @ @ fiR @ @aar @ 1)
o C. T 3Tfthe & €iY @R Ug, g1y gtk @FT @, foR ©e dera 41 7|

X D. ¥m Hifthe @ e o= ugar, g1y e @ @ iR @ @aa 9w
Question ID ;: 75322912445

Q.15 fy=faf@d us d, ar Rereal d |, 39 fAereu &1 aua & oY sreay & We 1 9d) e gh

= R aeR e e g 2
Ans o A HIYGIYF I
X B. fura sremg

X C.gerdts sy
X D. faemfeatues s

Question ID : 75322912435

Comprehension:

A9 oy meriar bl @rYd e U SR AR fadhedt # 8 Ucdh UH & HalaH IR I |

&8 @i grerd & foh o ik Zadaar # Pty &, fhg araa o ag yv 81 orRmgA & gry @i
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R o Hed Y hgell bl

SubQuestion No : 16
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X B & s
X C. i fmma

X D. 99 & 3R
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Comprehension:

H feg M meriar Y eargdes Ué ofR AR et § & Uik U 1 FdiH IR 4|

&g AT BT & foh e 3R Tadar 1 4R &, foheg aTeaa | g 9 81 SR & g1 W@aad]
T 721 S, afees gt ot wadar &t e gidt 81 T5eh R g & fog g ol wadd &, g1 arfl aves 9
g1 F1fen fobeg 18 O gn e A off 96 Gehd €1 389 &9 S1UA € T Hene # greid §, gl &l e
off &ia €1 faemeff vra & vt fmfar €1 3% S/emea & Tor & seare snft & awar aifgy, o @
R & T YT Sheell 9ol

SubQuestion No : 17
Q.17 3RATHA &1 EHI UR T U1 grelm &7
Ans o A 3G WAl & & BRI B
X B. 3! W1 gl o e STt 8
X C. 3 w@dar @ & At &
X D. 39 wdiFar faa st

Question ID : 75322912451

Comprehension:

i feg M2 merier ot ergd ud R IR [t # 9 U U 1 garaH IR I |

&3 TN AT & foh SR 3R Tadaar A [ty &, foheg amiaa o a8 9 81 S & g1 wdaal
& 78l arelt, afees gt &t wd=ar & e gl 81 gga W e & forg ga et s § g arff R g
o1 ATfeN foheg T8 at &9 &t | oft I Tehd &1 3T §H T4 81 10T Hehe H BTl &, G ahl eiar
oft Sid &1 femeff vRa & et fAmfar §1 3 Sremes & Tori & spearg sft & & @12y, e @
R & T GYd hgell o

SubQuestion No : 18
Q.18 =g & IR AN & foh ara &1 w9 &2
Ans X A & srjame ofk @adar ggdl o7t 2
o B & s ok @asa a2
X C.foh S emee ok w@dFa1 @7 &

X D. foh Seme ofk @ema o 781 &
Question ID : 75322912450

Comprehension:

A fog T Terier aht eTTYd e Ud SR AR fadhent § § Uddh U T HaiH IR g |

TS TN GHEIT & foh ST 3R Tdal A [y 8, foheg ada # a8 A §1 S & gR1 @dadl
fo 7@l Srelt, afce gl i wdwar & e gt 81 T W gad & forg gq ot wds § g e R &
T AT foheg ITE a1 &9 g | off I Tehd €1 3T B9 37U 6 0T Wahe T BT §, gkl Y WA
ot Sid &1 et vra & st Fmtar §1 9% srames & 1ot & srearg snft & e @1fey, e @
HRd & Ted GYd hgell Tl

SubQuestion No : 19
Q.19 39 & &19-a1 yg &1 faeta g &2
Ans X A @
X B.o
' C g

/X D. 2k
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Comprehension:

4 oy ™ merier it emgde U¢ ofR IR fadhedt J € Uics U & FataH 3% I |

&3 AN TAETd & foh S 3R Tadar 1 R &, foheg aTeaa 1 g Y| &1 SFRIEA & gRI W@dad]
T 721 S, afees gt ot Tadan &t e gidt 81 T3 1R 9 & fog g ol wadd &, g1 arfl aves
g1 F1feu fobeg 918 A gn i A off 9o Gehd €1 389 &9 S1UA € unoT Fene H gred §, gl &l w@eAdr
off &ia &1 femeff vra & vt fmfar €1 3% S/emem & Tor & sreare snft & e aifgy, oo @
R & T HYd Sheell 9ol

SubQuestion No : 20
Q.20 wIRa & U= Yd a=+ & forg frenfdat ot foraest srvare avem anfgg ?
Ans X A Trfi X% & ge @1

o C. 3F2me & i

X D. gt 9yd @44 &

Question ID : 75322912452

Q.1 At which age most children can start to spell some common words that aren't
spelled the way they sound (often called sight words)?

Ans X A High-schoolers
X B. Middle-schoolers
«” C. Younger grade-schoolers (ages 5-7 years)

X D Toddlers (ages 1-2 years)

Question ID : 75322912464

Q2 _____ refers to free associations, dreams or reveries.
Ans X A Multidirected cognition

X B. Equality cognition
o’ C. Undirected cognition

/X D. Directed cognition

Question ID : 75322912465

Q.3 In which of this period child is still a baby but can walk more confidently and looks
more chubby?

Ans ¢ A Toddlethood
X B. Infanthood
/X C. Pre-school childhood
X D. Babyhood

Question ID : 75322912461
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Q.4 What is pre-natal period?
Ans X A. Theperiod from birth to the age of 2 years

/% B. The period from day of conception upto 1 year.
" C. The period from day of conception till the birth of the child

X D. The period from birth to the age of 5 years

Q.5 What are the factors affecting moral development?
Ans X A institutional infrastructure

/X B.school and college
o’ C. family, peers, and culture

X D. officers and companies

Q.6 Howdo social cultural factors influence development?
Ans X A. by providing it with physical context.

X B. by providing it with family context
/X C. by providing it with cultural context

«” D. by providing it with a social cantext.

Q.7 What are the two major influences on child development?
Ans X A psychology and sociology

& B.nature and nurture
/< C.drama and art

X D. culture and society

Q.8 Which stage is of idea development and the beginning of theories in child?
Ans  # A Formal operation stage

/X B. Pre-operational stage
/X C.sensory-motor stage

/< D. Concrete operations stage

Q.9 Which are the evidence of high level of cognitive development?

Ans X A Social awareness and creativity
X B. Soft skills and creativity
X C.Intellectual and creativity

«” U. Problem solving and creativity

GET IT ON
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Q.10 Which one is not included in affective domain?
Ans & A motor skills

/X B.feelings

X C. attitudes

X D. emations

Question ID : 75322912468

Q.11 Child development does not take place in which of the following areas?
Ans & A Financial

X B. Mental

X C.Physical

X D. Emotional skills

Question ID : 75322912455

Q.12 What are 4 language domains?
Ans X A. Reading, Writing, Explaing, Narrating

X B.Talking, Observing, Reading, Writing
o C.Listening, Speaking, Reading, and Writing

/X D. Hearing, Speaking, Writing , Analyzing

Question ID : 75322912474

Q.13 Good family values are expressed through _______ ?
Ans o A Teamwork, honesty, compassion

X B. Education
X C.Individual work

X D. Lesson Plan

Question 1D : 75322912469

Q.14 What are the most important influences on a child's brain development?

Ans X A assessmentand learning
/X B.caste and gender
X C. knowledge

o” D. Caring, Responsive Relationships
Question ID : 75322912472

Q.15 Teething of baby is marked between ___and ___month.
Ans X A 9and11

o B.6and8
X C.5and7
X D.10and 12

Question ID : 75322912460



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Q.16 By the age of 3 years which of the following qualities is mastered by child?

Ans X A vocabulary and sentences speaking
/< B. Life functioning, personality, and relationships
X C.gross-and finemotor skills

& D sitting, walking and sufficient hand-eye coordination

Question ID

Q.17 Therate of growth and development from infancy to the age sixis
Ans X A Remarkably moderate

/< B.Remarkably slow
X C. Depends on child to child

«” 0. Remarkably rapid
Question ID

Q.18 An average 2 year old child requires how much amount of sleep?
Ans X A.12-14 hrs atnight and 1 hr nap during day

/X B.5-6 hrs atnight and 2-3 hrs nap during day
" C.10-12 hrs atnight and 1-2 hrs nap during day

2% D.8-9 hrs at night and 6-7 hrs nap during day

Question ID

Q.19 To resist which of this prevailing diseases triple antigen vaccine is given to the baby?
Ans X A Whooping Cough, Jaundice, Cholera and Polio

/< B.Dengue, Malaria, Polio and Tetanus
«” C.Diptheria, Polio; Whooping Cough and T etanus

/X D. Diarrhea, Cholera, Typhoid and Palio
Question ID

Q.20 The two characteristics of skilled movement are

Ans  # A Purposive nature and coordination of sensory information
/< B. Automatic behaviour and coordination of sensory information
X C. Supportive nature and coordination of sensory information

/< D.Inguisitive nature and coordination of sensory information

Question ID
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Q.1 Which of these is a right to equality?
Ans X A equality of assembly without arms of assaciation,

¢ B. abolition of discrimination on grounds of caste, race, sex or religion
X C. equality of profession or occupation.

X D. freedom of speech and expression,

Question ID : 75322912481

Q.2 wiverfde: feargat Fdaga g
Ans X A TST

X C. 2t

X D.ed

Question ID : 75322912480

Q.3 Which principle of curriculum suggest that organization of the curriculum should be
on the basis of individual differences as every child is different from the other?

Ans o A Principle of flexibility
X B. Principle of forward-looking
X C. Principle of co-relation

2< D. Principle of conservation

Question ID : 75322912493

Q.4 Which of this is not a major cause at root of linguism in our country?

Ans X A Historical causes
«” B. philosophical causes
X C.Psychological causes

X D. Economic causes

Question ID : 75322912477

Q5 _____ uas fasfier aferar &, S suahn wrsawaf & gea oz warasfierar & art & fAofa &3
& forg famar wrar 21

Ans J A .17-‘{]’}.:
X B. feror &t zorfifoat
X C. ffaee fsdtoo

X D. [qugaw & wa7
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Q.6 In which evaluation the final effects of a curriculum are evaluated on the basis of its
stated objectives?

Ans ¢ A Summative Evaluation
X B. Cognitive evaluation

X C. Formative Evaluation

/X D. Diagnostic Evaluation

Question ID : 75322912494

Q.7 Which scheme was launched in March, 2009 with the objective to enhance access to
secondary education and to improve its quality?

Ans X A Rashtriya prathmik Shiksha Abhiyan (RPSA)
X B. Sarva Shiksha Abhiyan
/X C.Nayee Talim

«” D. Reshtriyva Madhyamik Shiksha Abhiyan (RMSA)

Question ID : 75322912487

Q.8 3ftuafes ursa=at & ek fory o fAatfSra wrasasat, srdsat, siferm nfafafaat

3R g™l &t areaa | srnfaya ufvorrs 23 Y diar &t aras itk g Y uftear 21

Ans X A ursagyf fdwaasd ur vy agg
& B. ursuHal gl
X C. ursagyl arsamd

X D ursdad & deg 3R 35

Question ID : 75322912489

Q.9 1937 # @i § 10 adf uget Ueh 7 QrATfoveh eqawur & forg =i arefta (7€ fRren i gftard)
i & wu | oft e S @) Y sravgeRar Y e feRae i oft?

Ans o A TETHI IR
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X C.9@R ued
X D. 2 smdeaw

Question ID : 75322912488
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Q.11 uer fagty ey anf & 13t & forg Puffa geaes & ol 3@ & g file wgr ran &1

Ans X A & g
X B. uRaa giaa
X C akgs

Question ID : 75322912490

Q.12 fsft farenerat it argfeses Ta= ufhar & areay @ TTST & wReiR @ iR dfd agg @ oot
el Y AT T ___% 1 g1 59 el oht Uers & forg awenre w27t

Ans X A 15%
/X B.10%
X C.20%

Question ID : 75322912485

Q.13 U argfge dwpfa___ F Btz faafafaa g & mufsar 3 § ofk g 3 2,
foret safzrand} deepfaat grar Aga fear sar &1

Ans X A Hegif agagr
X B. e & Sl et urafiear &1
/X C.32R, Zu1] SagR

Question ID : 75322912476

Q.14 S=ETAT ATHAT & HATT 7 g &5 H iR S=arifa & sra ot qurasTgof Head ok 3=
TR FY A1 vera e & forg sgfRe Sawta & a3 & forg Ated snardia faensm aten
Y= H gl

Ans X A TFH
X B. arcfifs
& C. Tehered
X D. g

Question ID : 75322912483

Q.15 Thetitle of the RTE Act incorporates the words _
Ans X A 'Free education’

/X B. 'paid education’
 C. 'free and compulsory education

& D. 'Compulsory education’

Question ID : 75322912486
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Q.16 faver & SR eaf ot daR e & forg qEg wve A d &2
Ans X A faercera, e, feres, 3

o« B. g, 7, fvemeff, aifermr nfesar

X C. gmr, faener, femefl, ey

X D. frerep, faramff, 77, Femg
Question ID : 75322912491

Q.17 Right to Free and compulsory education to all children of India covers the age group

Ans P A 61014
X B.5t014
X C.3t012
X D61015

Question ID : 75322912484

Q.18 T & fohe= ST &2
Ans X A I T EHT

X B. ®g 9w S
X C. 315 91

& D. U T 3

Question ID : 75322912475

Question ID : 75322912479

Q.20 fy=faf@ad @ frg araifSies wheror & qgd 9uTs ot du7 ok dfea | aier man &, afer
Feafer nfashterar o0 @ @a emfaefaa 82

Ans X A Al d HIUR U IR0l |
X B. foim & SR ur w@ie |
X C. S & 3R w e

o D. 37fia & & SiuR o7 Tdtaor|

Question ID : 75322912482
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Q.1 ICT as lesson designed are more

Ans X A Interesting and practical
/< B.Practical and boring
X C. Tough and difficult

D engaging and inleresting

Q.2 foafafEad @ w7 o Rigia siieft ot gadt wrut & wu o gera & forg 78 82
Ans X A w1 faem & forg 33 muras arel urst 6 fRmes @

o B. VT ST A F1HTY I e

X C. o e & fe 3R stk aer|

X D. s frenfefat &t s

Q.3 Technically, ____
inches, feet or pounds in mathematics.

Ans X A Pattern
X B. Representation
«” C. Measurement
X D. Estimation

Q.4 ICT does not provide which of the following tools of learning?
Ans X A Slideshows

«” B. Laboratories
X C.Videos

X D. Calculations

Ans ¢ A Easy Access lo Learning
X B.Easy Access to Teaching
/X C.Easy access to Assignments

/X D. Easy access to Books

Q.5 One of the most vital contributions of ICT in the field of educationis- ______ .
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Question ID : 75322912499

Question ID : 75322912506

is finding the length, height, and weight of an object using units like

Question ID : 75322912513

Question ID : 75322912498

Question ID : 75322912497



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eonle Play

Q.6 Ueh T Hf-ard =0 & Ut wrut <Y eafy qorrelt 3k eareRzor & e HgiRd gifde &ear g ok
BOTIRY Qreat oY QreaTaet grfe whean 87

Ans X A 10a4 &l 3g dad
X B. 6 ad & omg as
o C. 5 ad &l 31y deh
X D 33d & g as

Question ID : 75322912508

Q.7 fr=faf@ad & ota ar alew ua o= & fag nftrda wtee dias A soatd i &2
Ans X A fid sk ard

 B. Bl

X C. 29 3m

X D. oA =

Question ID : 75322912514

Q.8 Ingrowing demand for ICT, in order to stay ahead and become a competitive person,
a leader must keep abreast with

Ans ¢ A Updated technology
/X B. Knowledge
X C. Creativity

< D. Skills

Question ID : 75322912496

Q.9 =99 @ ot oY axgfg gdern g &2

Ans X A 93-3Hd
& B. 995
X C. ggfaeed

X D. @5

Question ID : 75322912502

Q.10 What plays the most important role in learning English language?
Ans X A Vocabulary

VJ’ B. Grammar
X C.Meaning

X D. Figures of speech

Question ID : 75322912507



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q.11 wrura &t uer 3tz @A & forg suatn i s areh fafdat & ufay sramarg mo Surm @&t
gl ST 82
Ans ¢ A TN fRrefTTE

X B. 3eR fememe
X C.arfe fememes
X D. ottt fremreme

Question ID : 75322912503

Q12 .. 31erdt & AT | ugn i@ i ges fafd @ forad ges-ues v & ad=t i @t g1
Ans X A ool T IumTH

W B. @@

X C. fmam

X D.afm

Question ID : 75322912510

Q.13 f=faf@a g @ &= fen F 1ICT wraf=as wr qe aga 76 @2
Ans X A mfasfier ok Aai=idt fReror grarERon & fenag & era

X B. 3! &l @gs T U & H G&7H g1 & folg

X C. ort &l g1 el GEIfeid e db eimen 8 ghyor s

o D. B &l wifasy # ¢ai-uizae a9 & fog

Question ID : 75322912500

Q.14 w1 fafd Y& sy & wrn R & forg Sug & srel a=3 @ andifes nfafafe st afa @
Ans o A gt ardiifees ufafesar fafa

X B. T UG & gai R JemaT

X C. ardafers wifa fafe

X D. ffiq ugfa o s aw s

Question ID : 75322912511

Q.15 daR &1 Wyfde Aregg piAarg ?
Ans o A wTHI

X B.g@ya

/< C. el

X D. &rarg

Question ID : 75322912504
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Q.16 ICT stands for ____
Ans X A Informative and Creative Teaching

«’ B.Information and Communication Technology
X C.Informative Course and Technology

D. Information and Curriculum Teachin
] g

Question ID : 75322912495

Q.17 5 o & |raT=g a= &t = A1 gt afora srasge Fu A gar giar wfpe?
Ans X A 3-3fr Grerar a or

o B. 10 T & 5=

X C.2-3ifru gera e s

X D. 1000 a@& & dwn

Question ID : 75322912512

Q.18 A small child acquires language through
Ans " A. Interaction

X B. Study
X C.Discord
X D. Self

Question ID : 75322912509

Q.19 Uek =T U= Uged! W1 gl d@ar 8?2
Ans K A aﬁ g

X B.@EEN

' C.®

/X D. Hggexdl

Question ID : 75322912505

Q.20 fvem & awgfs wemrz At wier @ar 87
Ans  f A T BIE ITR) F SE AT arel Teh T

X B. 5gd &fs IR il Sraaendl arel! uek udten
X C. gfera IR & sravgerar ardt adian
X D. férg IR &t sagaehdr grelt gite

Question ID : 75322912501
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Q.1 Which social science is called the mother of all social sciences?
Ans X A History

«’ B. Sociology

X C. Geology

X D. Economics

Question ID : 75322912524

Q.2 Which of this is not a main aspect of health?
Ans o A Economical health

& B. Physical health

X C.Mental health

X D.Emotional health

Question ID : 75322912533

_____ &1 e Siferand faear 21
Ans o A RFmE Rl

X B qmreiemes e

X C. eraifer e

X D. #ifaze fan

Question ID : 75322912515

Q.4 What is the full form of EVS?
Ans X A Environmental strategy

V}’ B. Environmental Sciences
X C.Evolution strategy

X D. Evolution Science

Question ID : 75322912520

Q.5 3 & &t 91 AT g T U 9Tk 87
Ans ¢ A ARG ok waR

X B. o udter

X C.&r

X D. eRai

Question ID : 75322912523

Q.6 fr=faf@ad @ staarEvs fAeror w1 v wi@ 32T 7 87
Ans o A SiIG1RA faTH & ar | die

X B. wdemaftaar fafEa w

X C. ugfare & ar & draa

X D. fafayar & fau ue naran fawfla e

Question ID : 75322912518
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Q.7 Rendaew sikwen @ ________gard
Ans X A 3mEdm

X B. iR faawma

o C. afod faam

X DI g%

Q.8 At nfART # W m Wk e 7
Ans ¢ A TS EdHA

X B amfd

X C. st

X D. agd geg

Q.9 fr=faf@ad | «ta @ g & ant =gt 87
Ans X A FH M

& B. T m

X C.adgm

X D wfh gl

Q.10 Which is not a environmental education teaching method?
Ans X A Project method

«” B. Theoretical method
X C. Discussion method

X D. Demcnstration method

Q.11 Which teaching method allows learners to explore different parts of games as a
form of learning?

Ans X A Artbased learning
/X B. Activity based learning

2d learning

75 D. Skill based learning
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Q.12 3Ry feranrawuT & T ghan 82

Ans X A fhelR g%t & 9919 agR & §, 3R I6H Uah 36l UgaTs a918 ¢ 3R It o=t Iry 3R
far g

B
X C. sméifea uRads grefaes ot fRewanst & e & sk & & €

X D. faudia fefrr it e wmgl & |1y 7Y HaY g9 & 37 ATt € e 3 agaT @ e
glar 81

wrartie 4 fasrarer & gie ofk e § a5t g @

Question ID : 75322912534

_____ is considered as the evidence of reaching adolescent stage.
Ans X A Maturity

X B. Early childhood
« C. Puberty
X D. Adult

Question ID : 75322912532

Q.14 frr=faf@ad @ &ta a1 A1 &1 uaR 981 87
Ans X A TR

X B urdadi
 C. aife
X D. &mst

Question ID : 75322912526

Q.15 wfran fAeror @ a1t Sftas 1 AF-971 s TG Thd 87
Ans X A VHd R

X B Qi ok well & et &

o C.3fg o awa @ &

X DudRe
Question ID : 75322912530

Q.16 fa=faf@a & @ = ar gifta fveror &1 g uge 6t 82
Ans X A TETEEE

X B.méiRan

X C. &S

v 4 D. 9g7

Question ID : 75322912527
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Q.17 Ability to count accurately— first forward is called?
Ans X A Figuresense

X B. Letter sense
X C. Shape sense
o« D. Number sense

Q.18 3 & formw @il ot sreaT 1R Uk R & W1y Iht of:feRar anfire &2
Ans X A famm

X B.EVS

 C. amfaa R

X D.ufora

_________ is a way of working with children and creating settings for care and
education that embraces nature.

Ans X A Care pedagogy
/X B. Nurture pedagogy
/< C. Science pedagogy

" D. Nature Pedagogy

Q.20 ¥ & i gafaror fasm &1 wya &l =g &2
Ans o A 37 faen

X B. sitfechy

X C. gmfers fagm

X D. uiRfRfad
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Q.1 Farapreit= ufreror wrdern & fAerent @t forg wenmR Y auwared &1 QT ST ugdr @7
Ans X A.TUTITI S 3T

” B. el & ugg i i

Z< C. 19T &l 371

X D. 3/ &t awft

Question ID : 75322912552
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Q.2 Uek fNers aerg & Hd gt dar &2
Ans X A gH & UEH adh

X B. TS @ar ek

X Cea@d

o D. [Rerriedal et 71 3R gy var aeeh

Q.3 #Aterd Y duraar &t &n & &, e fRer of forg dard & sSifem & &0 @ d geg
e 82

Ans A
X B.g&R
X C. =g
X D. 3 sa”

OYHE

Q.4 unfa wrdfs nfafefamaa gt & 21
Ans X A 73 fa@r

X B.Shaw

J C. 8&g

X D uead

Q.5 g farenera & amdtfies e Ht srasgwar & ifes I

Ans X A. 3resT SIfRTTH U & &
X B. 31 3fch HEH el &
o C. FHTHTETR {0 el 6

X D. 3reesT ATy HeT aRdl &

Q.6 @l & forg wrafSies svteret &1 IuatT e Rt wgwgut §?
Ans X A @qifch @ GRS aradid & G9raHr ot oF awd &

o B & d gdu a1 ofk Riafaa a=a @ anf 8

X C. oifer ug gt at i Sarfa ey &1 e ST §

X D. ariifeh g sfta= & SFwal U AdRIHS THTd USd 8

Question ID : 75322912553

Question ID : 75322912540
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Q.7 mdifYes fRven & am=TaTes @Ry FaT 82
Ans X A @i 3R freag ot Fafia o & gem

X B. oot garrart ok aragr ot Fafia e # s ghar

X C. gan=nsff ot aoeh o H geiy q8f

o D. S0t Fena iR @rgen &l FafiE @ § qa E

Q.8 fore uehTR o1 Tare afth & 9T TR H FaR dee §?
Ans o A aTRe @y

X B. Arfi @

X C. G716 @Ry

X D. smenfde @reg

Q.9 Uk I Y GAHIH SRS ____ &
Ans X A 3% @ ues aifge gl
X B. 3% areedt ey anfe gxeft

X D. 3% ardifes earam &) sfiaegandr gl

Q.10 ek o= & Sftaa & emdifies fRrem & g yfaar
Ans X A @7 &l aeal @l aaral & & o

X B. & P agrai &

o C. @ gfg 3R faehrg o ggrar 2 & fog)

X D. Etsa &l wgrar e & forw

_________ & T g ot Tt gt 81
Ans X A 12316 @y &t amy

X B.13 3k 18 af &t sy

X C.153R 18 ad &i 3y

o D. 11 3R 18 a4 &l 3my)

Q.12 foenmam A oftsrF e @i
Ans X A zdAdd dgH & forg
X B. 3mHmd ehagR & 791 dgH & foy
o C. af8d amnfSes ahtere 3 qur & & fo

X D. gham (Zefen) & A 9T & foy
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Q.13 What are the objectives of Physical Education?
Ans X A develop emotions

/% B. 1o developlearning skills
X C.to develop gross skills

J D. to develop motor skills
Question ID : 75322912554

Q.14 I 3 a=dt ot AoTge afat ofx gfgat & fmfor J Aeg wvar § ot ok & orgget g1 & forg
Mg & U d &rd &=ar 87

Ans X A faan
v/ B. @
X C. viwA
X D.uet

Question ID : 75322912544

Q.15 2mdfyes Sfard & IeTERor ___ 1
Ans X A @

X B.ga@

o C. AT

X D. 3@are

Question ID : 75322912548

Q.16 37H & &7 Ht e srasgerar a= & forg Agwyef &2
Ans X A Udh SFIg UY &A1

X B. g sremga

X C. @@ ot fafla e

o . Fafaa nfa

Question ID : 75322912546

Q17 _________ & 1eoT fere FTaTRd ok Ty §
Ans  f A TSI Aqa @i FHI 3R TRRISTR HIR
X B.@H! &l FHHl
X C. 7 et

X D arwa &

Question ID : 75322912549
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Q.18 Mg Wey IR U d & - h eiaaT A qeg e g I
Ans X A ¥R &l S it 3 erar

o B. anifes amioie qudh ofk Geey e & Ikt epa
X C. oRada & srad gt &t 3! amar)
X D. 3e @y T 3 i i amed

Q.19 e fNere wandt Far H& gt gahvan 22
Ans X A 3 urs giEr @qH1

X B. 7 feror ggrges gt a9
X C. 72 =i dia

o D. il &l g1 e grefes S g7

Q.20 What do you understand about in-service training of teachers?
Ans X A toadvertise or promote the school

o’ B.to enhance the teaching quality of Indian schools
X C.toestablish the new school

X D. to enhance the teaching quality of abroad school
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